2 3 4 5 6 1 8
REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance with HE 507) Series -
A A
PHYSICAL CHARACTERISTICS
-INSULATOR MATERIAL: THERMOPLASTIC UL94V0 Shell size: EABCD
-CONTACT MATERIAL: PHOSPHOR BRONZE ( signal contact ) see sheet 3
GOLD OVER NICKEL ) )
— M ccharacteristic —
for the DM series
-ACCESSORIES: STAINLESS STEEL or BRASS,
cadmium plated yellow passivation Front accessory definition -
-SHELLS: STEEL, cadmium plated yellow passivation see sheet 2
8 FLECTRICAL CHARACTERISTICS Blank :without accessory 8
-NOMINAL CURRENT: 7.5A 0 cthreaded insert M3
-CONTACT RESISTANCE: <= 7.3 m ohms signal L tthreaded insert UNC 4-40
—|  -CONTACT/CONTACT : >21000 V v cfemale screw UNC 4-40 |
~CONTACT/GROUND : >21200 v F cfloating mounting
-INSULATION RESISTANCE: >=5000 MOhms
ENVIRONMENTAL CHARACTERISTICS Layout of contacts B
¢ - CLIMATIC CATEGORY: 55/125/21 ¢
TEMPERATURE RANGE -55°C TO +125°C SLLLAL
DAMP HEAT STEADY STATE 56 DAYS P Pin
SALT SPRAY 48 HOURS I
MECHANICAL CHARACTERISTICS Plating
- RETENTION AGAINST TORQUE: - Threaded insert: 0.7 N.m minimum Blank solder bucket 500 matings/unmatings
- Female screw : 0.5 N.m minimum 043 solder bucket 500 matings/unmatings for harsh environment
D D
N cobligatory indication for HE 507 series
|3W3 FOR EXAMPLE
£ E
m ‘ l li l l l ‘1 !ﬂ n!
;o‘- surface - tolerance std |projection
< www. Tciconnect.com |1so 1302 \/ 150 405 150 1101 mm
§ TOLERANCES UNLESS OTHERWISE SPECIFIED @g
S b [ PESSON__[2006/ 11714 | "] 0. 303 |size Scale
F ’;” LS‘D‘JO"‘;A MdP’E 20027:7/‘4 Eng | P LEGARE 2006/ 11/ 14 LINEAR | o.xx To.1 A2 2.1 F
. ¢hr | P LEGARE 2006/ 11/14 |0 [+ 0. XXX +0.05 ECN LS0T7-0273
T e OO0 oo [P LEGARE | 2006/ 11714 [Product fomily [ Spec ref
NE B Rev
FCj |- U8 MALE DMw o C01-8637-1754
~.j ~  mixed powertsolder bucket S B
catalog no - CUSTOMER [sheet 1 of 1
2 3 4 5 | 6 7 | 8
PDM: Rev:B staTusReleased  Printed: Oct 01, 2010



? 3 4 5 6 1 8
4.1
A diol qup 0.8£0.12 T A
< radial gap 0.8+0. v
S s ‘ﬁ h p bl p 3 —
=T [ " ] F 2 H F
— E==) [e— (e 1 —
* i * \\\\\__k\\n ? r
& 10 410 ‘ oxial gap 0.2540.15
B 2310 L0 e i 5
: : : L insert M3
FRONT ACCESSORY Blank without F floating mounting O insert UNC 440 V female screw UNC 4.40
shell size LAYOUTS
c FRONT $ W c
PART NUMBER ACCESSORY
DxMxWyxPN without [ oW1
D*MFxWxPN Floating mounting A [ TW]
D*¥MLxWxPN insert M3 ) 7 —
D*¥MOxWxPN insert UNC 4.40
D*¥MVxWxPN female screw UNC 4.40 i 2IWI
i LTW?
D D#MxWxPO43N without ] 1303 D
D*MF xWxPO43N Floating mounting ]
D*MLxWxPO43N insert M3 W4
| D¥MOXWxP 043N insert UNC 440 ¢ 2OW3 |
D*MVxWxPO43N female screw UNC 4.40 ( 2 1WA
( 2IW?
i ) 470 .
= ) 24N
Q) ) 36W4
[T
= surface - tolerance std |projection
? Aci t. 150 1302 \/ 150 406 1SO 1101 mm
g " creonnec con TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
< b | M PESSON | 2006/11/14 0. 303 |size Scale
F Eng | P LEGARE 20067 11704 AL Livear [ o 0.1 A2 2: 1 F
Chr | P LEGARE 2006/11/14 0°\i2“ 0. XXX +0.05 ECN LS0T7-0273
Appr| P LEGARE | 2006/11/14 |Product family [ Spec_ref
S |2 SUB MALE DMW : Rev
. - > COI-8637-1754
SCALE:4 FgJJ ~  mixed powertsolder bucket S B
catalog no - CUSTOMER [sheet 2 of 1
2 3 4 5 | 6 | 8
PDM: Rev:B staTusReleased  Printed: Oct 01, 2010



| 3 | 4 6 | 7 8
A
‘ 3043007 38.76 1070 = 38.76 55" s
B L - — B j— i —) _ 8
@/@@@@ @ @@@@@63@@@@@ ) @ @@ @ SIDL Y W FOR
i @
- LAYOUTS: E ABC
- 40.51 —
19.02 5 .25 I
3 . ¥
C © o~ o~ C
‘ RI UUE _ OWH 1
s J: ! 5
L [ 1 | 7
‘
= 25.00 1%
w2 < =
D 04 99 %012 33.32 5503 - D
e 16.79,"% 2 3 523" s Bl = %
3 = 3 == 2.76 B
S o = 2.14 = — o~
> ES3 3 e |- < =
o~ LT ” E ) 7 E o~
- | AN 2 L2 OO me\ NE " I
o
] M €5 @) NG @
] NG 4 NG ©u i St
* \ 4 * —/J Nl
T <+ 6.8 £0.05 | 6.86 £0.05
£ = 4] | s 33 30 01 -
o |
R Floating signal contacts I
= surface - tolerance std |projection
? www. fciconnect.com 150 1302 \/ 150 406 1SO 1101 mm
E TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
4 Dr |M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
F Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
¢hr | P LEGARE 2006/ 11/14 |0 [+ 0. XXX +0.05 ECN LS0T7-0273
Rppr| P LEGARE | 2006/11/14 [Product family [ Spec ref
FC'! = SUB MALE MW S cor-gest-itsa |
ﬁ = mixed power+solder bucket 3 B
catalog no - CUSTOMER [sheet 3 of 7
2 4 5 | 6 | 8
PDM: Rev:B staTusReleased  Printed: Oct 01, 2010




| 2 4 | 6 | 7 | 8
A
] 47,04 E012 47,04 02 4704 E1 —
B i i = — | B
) ©) 2egoo & @ D-Hese @) ) 00000000 @)
50600 b 690060
\ — \ — = | —
.02y a0y 402
¢ 2 e 2 ¢
= | R — : - | [T ; = L
il | | B | | 1 | |
T
D D
| 38.84 {8
+0.76 i 2.76
52.65 0 3%
— 40.25 10.25 Z LT (L \\ I —
= 38.84 0 2 36.84 0 H ( | .
= H © L) [ele] " t
i : 8 3 Q{{% R
= . -~ - © s 5
E| | 3 = Jii [ S c
1 [ A o PZN N 1 ~ONPN
a i @ et G B/ RS “ /D] 13.82 +0.05 13.82 +0.05
ﬁ) < { i ) © ; )
o 1 | — 3 | —
W o . 414 .05
— o T.77 £0.09 —
S ] T.77 £0.09
= 14.48 40.0§ 14.48 £0.05 1448 40.05 14,48 005 surface \/ tolerance std |projection
> ] ! mm
= www. fciconnect.com 150 1302 150 406 IS0 1101
E TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
© Dr [N _PESSON 2006/ 11714 [, 0.x 0.3 [size Scale
F Floati . | tact Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
oaring signal contacts chr | P LEGARE 2006/ 11/14 |0 [+ 0.XXX +0.05 ECN LS07-0273
Appr| P_LEGARE 2006/11/14 [Product family ~[Spec ref
N e Rev
FCj |- U8 MALE DMw > COI-8637-1754
ﬁ ~  mixed powertsolder bucket S B
catalog no - CUSTOMER [sheet 4 of 1
2 3 4 5 6 | 8

PDM: Rev:B

staTusReleased

Printed: Oct 01, 2010




5 6 | 7 | 8
A A
| 41.04 T 63.5 +0.12 §3.5 +0.12 |
1 ‘ 1 ‘
B VOO0 leleferele] @ 000000OO0O0000 E) @ " 0000000 B
0000 0000 000000000000 0000QPOVOO
= - i "_1_/ & i "_‘ =
10.51 ﬁ ‘ﬁ“ ;;
| 41.02 5 = 57.45 fg.zs = 57 45 »Dn 2 = —
; 3 3 3 )
= g ERERL _ - LRI |
fﬁ( | ) i il | e A
1 | ] l B | [
D D
0.6 +0.76 +0.76
52,65 0 68.94 0 68.94 0
. 38.84 " = 55.3 0% = 55.3 0%
2 H 2 H <
= 2.16 2 2. 3 15.70 £0.05 15.70 £0.05 2. —
= L S ‘ - = 4 w
# 5 a e h w1 4} 13 " = AN ! s " "
w 0O 0 O0O0O0 O 0 O T O 0 0 00 [eRNelNe] o O T O O o O
! h @ o 5%’0@*o’ﬁ’zu () \S3) @’%;Tao*o’ﬁ’oTa - &) 1D ((‘ —F 500606000 @ :
L | L | 1 |
) !
e) Ll = -2 L || | [
o 22,68 0,05 22.68 4005 22,68 +0.05 22 68 +£0.05 —
= surface - tolerance std |projection
? e t. 150 1302 \/ 150 406 1SO 1101 mm
g " creemnec con TOLERANCES UNLESS OTHERWISE SPECIFIED @5 -—
4 Dr |M PESSON 2006/11/14 NGULAR 0.X +0.3 size Scale
F Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
¢hr | P LEGARE 2006/ 11/14 |0 [+ 0. XXX +0.05 ECN LS0T7-0273
Appr| P LEGARE 2006/11/14 |Product family - | Spec ref
a | 2 Rev
FCj |- U8 MALE DMw o C01-8637-1754
ﬁ ~  mixed powertsolder bucket S B
catalog no - CUSTOMER [sheet 5 of 1
2 ] 5 6 | 8
PDM: Rev:B statusReleased  Printed: Oct 01, 2010



| 2 3 4 | 5 6 7 8
A
= AL
< SIDE VIEW FOR
B . = = S 7 o LAYOUT: D
00000000000 /rm/ @@@@@@@@@@@@@@@@@ =
@ 000000 @@@@Q @ EHODHDD @) =
| = = A = ! e
§7.45 08
A 55.07 )
66.55 1
c g g
B By
“ \MMMMMMMMMMM ‘ ‘ 3. f * ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ
G I % ‘%
! I I I J ‘
L] ] * |
D
+0.17
T 6111
68.94 0 5269 fao 2%
— 63.5 0,12
3 55,310 < 20.57 £0.05 20,57 £0.05
B = = 13.72 .08 1372 0[5
S g 15.70 40,05 -
=2 A6 AT
E y 'ocooooodoo o 2 /f\“ A )@' ,@,
@aTo’ﬁ’oTo o o] et [ = ;
-ﬁ) 2 1 ) — = Do ®® ® 00
O Al =
W —
- 138 2T
£ 686 £0.05
z 22.68 £0.05 22.68 £0.05 e 6.86 +0.05 sorace - gTTterence sa oo o
z i b,

E " creemnec con ‘:sLE‘;:iCES UNLESS OT‘HS:KW‘\ZEE SP‘[SCU\ F‘\‘EOD‘ @5 -—
4 Dr |M PESSON 2006/11/14 0.X +0.3 size Scale
F Eng | P LEGARE 20067 11704 AL Livear [ o 0.1 A2 2: 1

¢hr | P LEGARE 2006/ 11/14 |0 [+ 0. XXX +0.05 ECN LS0T7-0273
Appr| P LEGARE 2006/11/14 |Product family - | Spec ref

a | ° Rev

FCj |- U8 MALE DMw o C01-8637-1754

ﬁ ~  mixed powertsolder bucket S B

catalog no - CUSTOMER [sheet 6 of 1
2 3 ] 5 | 6 | 8

PDM: Rev:B statusReleased  Printed: Oct 01, 2010




2.84

3oW4 A7W1

+0.51
|

+0.51
|

.42

T ( @é \ I T T \ | — N
@ 0000000000000000S
‘ 90606669 ‘ ‘ lefelelefefelefelelelelololg
/ @@@@é@@@@@@@ @ @ @@@@@@@@@@@@@@@@ \\ —
| T -
‘ 55.07 %% 55.07 %% ‘ L
66.55 9 ° 66.55 1y

3.6 4+0.29

"7'
2.72 £0.25
(@]

.

~ +0.12 ~— +0.12 D
_,;‘ 61,11 - 6l 11
+ +
5269 08 52.69 108
20,51 40.05 20,57 £0.0 —
= 3 10 40005 s e 20,57 40.05
= 6.86 +0.05 =
g = > =
— oo _ oo
E - N\ - m\ E
o Al AN TN e ¢ & © 0 0 & olF W ‘ b o000 0000000 00 W ‘
o)‘\ -\ PT O DO, - — = @ oD DO DD oD D @—@&—@;guf —
i "eo0o0000000e0 0080 0¥ - "Tooooc000o000 000 6 el
> Z 1.38 1.38
" 11 11
= = = el == Surfoce \/ Tolerance std [projection
- - www.fciconnect.com 150 1302 150 406 1SO 1101 E} mm
g — TOLERANCES UNLESS OTHERWISE SPECIFIED @ -—
S b [ W PESSON [ 2006/ 11714 |, ~ " 0x | %03 |size Scale
F Eng | P LEGARE 2006/11/14 LINEAR | o.xx 0.1 A2 2:1 F
¢hr | P LEGARE 2006/ 11/14 |0 [+ 0. XXX +0.05 ECN LS0T7-0273
Floating signal confacts Kppr| P LEGARE | 2006/11/14 [Product family [ Spec ref
[ 2 Rev
FCj |- U8 MALE DMw > COI-8637-1754
ﬁ ~  mixed powertsolder bucket S B
catalog no - CUSTOMER [sheet 7 of 1
2 3 4 5 | 6 | | 8

PDM: Rev:B staTusReleased  Printed: Oct 01, 2010




